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A= &= 593,310 468,498 124,812
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201 Let24d] 171,307 152,284 19,023
01 At 22l 70,437 56,564 13,873
Oget=&H| 66,564
—XNgAN g8y 2 3,500
- NgA B2E2Y 50,000& = 20& 1,000
- NgA AT Y 100,000& * 20& 2,000
N2l H XEA ASEAF BE Y
50,000& = 10& 500
— NN daEX 2 20,540
dJl2 DM 7L 62,0003 * 1802F A 11,160
LD N 72 62,0002 » 100 A 6,200
FAUHSEA 40,0003 » 20 A 800
EDNE=DN 20,0003 » 20 A 400
HHDNANSESE BEERY
33& = 60,0000H 1,980
— M= DM £ 62,0008 » 30T A 1,860
—XNgN EEE 892 & HUY 2 9,000
g2 8% 50,000& = 154 « 63l 4,500
X-#id4 &Xl 50,000& = 1504 = 63 4,500
— DM DEZHI(SE) g2
1,100,000& * 12& 13,200
— 0NN DFZEHI 2257 7,464
- EUY 650,000& = 304 1,950
= 2,130,700& = 14 2,131
A83 ZH 557,000& = 14 557
- 38 SUE 1,436,600& * 14 1,437
EH 22U 307,000& = 104 307
1 [RIPN N 614,000 = 14 614
Ed AN XM 468,000& = 1K 468
— A ME=Z 80& = 62,500A 5,000
~NEH AEIC AENLE 23
100& = 20,0004 2,000
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—NLANSRAESZ 30,0008 * 20H * 23| 1,200
o1l =l 2,000
—QINHIA DIOIE Y 222 2
200,000& = 53 =« 23| 2,000
O YiAHIM &3 BEUaA(FEE) Al
672,530& 673
02 8323l 100,870 95,720 5,150
o332 & HA 100,870
— XNEMDRMLS (L)
330& * 144,530A 47,695
—XNEMIRNMLS(SII)
1,960 = 18,130 35,535
~SEZ ¥ MUHE DXNAMLS(SI)
1,960& * 9,000 17,640
202 oddl 24,960 23,520 1,440
01 = LH o4 1l 24,960 23,520 1,440
OXNEgA BII2 6888 € HJIU ==
20,000& = 3% » 183« 10,980
OXNEA HEH d+==d
20,000& = 3% » 183« 10,980
DENEXHE s g
20,000& = 3% = 10 » 53 3,000
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ONSREEZ2H 100,000 » 20 * 12& 24,000
207 A RO H| 4,400 0 4,400
02 M AR I 4,400 0 4,400
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4,400,000& %14 4,400
405 TtakF S| 4,400 4,400 0
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N A2t AlFX 3,120 3,120 0
203 YR F&H| 3,120 3,120 0
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OXNYAHN SEXA2 FX 200,000& =« 103l 2,000
OX&A =2 =& 140,000& * 82l 1,120
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OdaAGAL Z&S 10,0008 * 300 3,000
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- =23 1,300& = 10,595m" 13,774
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— 2S5 A S X2 1,000,000& 1,000
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—HAEA X2 300,000& * 23] 600
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— HAI HIEE A 1,100& = 11,067 m 12,174
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— gy S X2 5,000,000 5,000
—0l=J £ MEI| A2
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01 2LHOHI 6,240 6,240 0
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—MIEHND(RFID) & & AZEYNH KA
== Hl 4,000,000& 4,000
405 TtHabF S| 40,000 40,000 0
01 Rt EFH S 40,000 40,000 0
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Oget=2H| 11,200,000& 11,200
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203 & R =& 5,400 4,620 780
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— 3021 0| Gt 400,000& * 12& 4,800
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